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E2. 

Eve =  : 49-21-38    

Ian = : 49-41-45 

turn left to sit =  : 2-39-45-15-18-4-2-2-6-17-2  

sleep for Steve = : 6-15-21-1-4-49-6-2-21-38 

E3. 

 is “f” and  is “v” 

 is “s”, so following the analogy,  must be “z”. 

E4. 

Following task d, Shavian characters are paired in their voiced – unvoiced matching consonants. If “p” is  

then “b” must be a reversal of this.  must be the sign for “b”. : 47 

Shavian Alphabet Roman Alphabet  

this is Shavian A4 

the cat slept B1 

to learn C5 

we have cats D2 

for ever E3 


